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Archaeological Grid

This inscribed stone was one of the finds found in Gelligaer Roman Fort. Archaeologists need to
record exactly where remains are found. To help them keep a record of the finds, they use a grid
system like the one below.

Draw these finds in the right part of the grid.
¢ A gladius blade (sword) in A2

¢ A piece of broken pottery in D2

® A coin in D3 and in E4

® A carved stone in E1

® A modern tin can in B1

® Aring in C3

Which one is most likely to be rusty? Why?

Why might you find modern rubbish on an archaeological site?

If the person who lost the ring also lost a bread loaf, why wouldn't you still find that?





